= A
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20228 = 20l A LEHSH 2322 =0
EX: S3t22 =10
HE: 250z D2 Y BE HS(2ILBY/2HH0M )
Ce: 230z AL (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
S22 A= 15,241,100 12,149,102 3,091,998
= 98,406
g 540,000
Jl 589,336
= 4,424,756
= 9,588,602
S0z Mg Y BE HS (2L 22 /250 =) 938, 138 1,078,530 A 140,392
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Dl 161,764
= 23,077
= 684,708
S3t0l= Al 105,760 89,692 16,068
=019 Y SiAL Jf X 36,390 35,098 1,292
201 et 9| 5,190 4,378 812
01 AP 2t 2] d| 5,190 4,378 812
OZ20Iol Al =Hl EZ2XH0HA!H]
8,000 x32 x50 1,440
O20Io AN AR AIAF X2 HIE
100,000& 25 200
O20IO AN AXIOIE 22 ST I &
200, 000& *8H 1,600
OZololy ¢ 40 Y& 70,000 *5J4 350
Ol A AT I & 200,000 *8H4 1,600
202 04d| 1,200 720 480
01 2Ll 1,200 720 480
OZ20old AL R 20|
20,000& 3% 20 1,200
307 giztol & 30,000 30,000 0
04 CIZ2tSHALALS B = 30,000 30,000 0
OHMI433] 2019 & JIE&AN M=l X3
30,000,000 30,000
=30 = A N 29,220 14,444 14,776
201 gEt24y| 2,000 2,924 N924
02 2=2=24%H| 2,000 924 1,076
O2S0=8A 2 F& QERZ
400& x5,00024 2,000
202 o4 | 4,420 720 3,700
01 2L HI 4,420 720 3,700
OS2F0=gR =8 =L
20,000& x4 50 4,000
O2sltz=g22d 2y &4 2 (22
) 70,000 2«3 420
203 SR F & 3,000 3,000 0
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a2 9 BE HS(2HLBZ/2502)
?e: FERaEH & NH (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 34,000 27,000 7,000
ONEZSMS AL XA (AR HIEHI)
500,000 » 1404 2 7,000
OHSSHMEHA AN (SHUHZH)
3,500,000& »23| 7,000
ONESZI M A XNJAL(II2H)
5,000,000& 5,000
OZzguna2dg XA AY 7,000,000& 7,000
ORgu=s2g N3 AY 4,000,000& *23| 8,000
HENASSTHE S A 26,000 25,000 1,000
307 21201 A 26,000 25,000 1,000
04 DIZHHALALSE E X 26,000 25,000 1,000
OXHSHAISETHES A 26,000
- Zo0| ZEUHESHEA(R0EH)
20,000,000& 20,000
- GAHH 500,000 1204 Ot = 6,000
Tl =435 AtY 717,078 886,238 A 169,160
= 68,589
J| 161,764
= 23,077
[ia 463,648
dgUEM==H IO X 16,000 16,000 0
< 4,000
s 12,000
307 21201 A 16,000 16,000 0
< 4,000
e 12,000
04 QIZFHALAIH B = 16,000 16,000 0
OMEesd==H N EX3
16,000,000& =13l 16,000
= 4,000
[ia 12,000
SEE3A XA 113,050 123,000 A 9,950
307 glz2+ol & 113,050 123,000 A 9,950
03 QIAHMNHE2IHIEE 65,050 65,000 50
OgtgEsd 29 N& 65,050
- §EIsE oAl 50,050
AR=F 26,000,000 26,000
SEME 24,050,000& 24,050
- AR4 2gE 15,000, 000& 15,000
04 DIZHHALALSE E X 48,000 48,000 0
OSEEatd AL ALY 28,000
- N2t dsttisl & &3 5,000,000 5,000
- d&=23 ME At 10,000, 000& 10,000
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AN 22Z ML
Hu: 250s N Y BE NS(2SILDI/2502)
el Zttll=a483 A Y (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- SE23M A 10,000, 000& 10,000
- SEEM B3 3,000,000& 3,000
O2l£=0l SHE0HE 20,000,000& 20,000
Stwll=2 AL XI& 7,578 7,578 0
= 3,789
e 3,789
307 glz2+ol & 7,578 7,578 0
= 3,789
s 3,789
02 QB HUANFEE 7,578 7,578 0
O D=2 At XA 7,578,000 7,578
= 3,789
s 3,789
SEES0EEH A Y 227,100 200,210 26,890
J| 161,764
< 19,077
s 46,259
308 XX EHH SOl A 227,100 200,000 27,100
J| 161,764
< 19,077
[ia 46,259
11 3J2SoHUHSI S HAE ALS I 227,100 200,000 27,100
O=gZsolEaAHAY XA 227,100,000& 227,100
J| 161,764
< 19,077
e 46,259
o= X2 183,850 200,850 A 17,000
307 glz2tol & 183,850 200,850 A 17,000
02 It M AHE X 175,850 200,850 A 25,000
Og&ae HIIH=3 Mzl (BEZEE)
9,900,000 9,900
OYE=AdMEL & EIINXIAL[(AHE ==
A EHZAR] 14,250,000& 14,250
OXEeEHEs=MEL NFAS[(AHE=2
8 EZXR] 6,750,000 6,750
OBESIMTLA L SHEAM N (A)EE
ZEERSHIS) 18,000, 000& 18,000
OF= s mdAAUS[(AH)ELditela
23] 9,950,000& 9,950
OJIME=HMEMS OIS =HESEES])
4,000,000& 4,000
OFHELAAL[(AHE22AEISEX R
5,000,000& 5,000
OFEEXNISFUEEHMME XN (BEUHEAUA
&3al) 5,000,000& 5,000
OEEAMUSESE(SHAMMES) 10,000,000 10,000
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2N 2BRASY
HH: 250 NE L BE HS(2LBZ/250S)
el =245 ALY (=& J)
o SAE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
S PENNEEENEEEEEEET
ZUEdos) 12,000,000& 12,000
OUHARESS H (B BAHANTESS)
3,000,000 3,000
ORostsssd(gHRA}S53)
3,000,000 3,000
OF S04 S&EAHE SN (FE2E
Zct) 5,000,000& 5,000
OSsE0 X0l DA MWz (2EEQ X0|)
3,000,000& 3,000
OBBOIZOES MAIS NE(HHOI20E3)
9,000,000& 9,000
Ozstil==H X& 20,000, 000& 20,000
OBBEIZMAZHS N (HEZMAZES)
9,000,000 9,000
OB AN(HE) MY N (BFY)
2,500,000 2,500
OBEIZOQESA N (BEZ2HAES)
2,500,000& 2,500
OX43 AHIIRF HE[(A)SZH0MEE
sl=ig== = PNE-I 10,000, 000& 10,000
OS2SR LNTIANL[(A)EE 250
E== PSPy 14,000,000 14,000
04 DI2FSHALAISE 2 X 8,000 0 8,000
Q20224 TrHaEMEH X2 (RHAMH 222
3l) 8,000,000& 8,000
stz HMEHSIISTEHIE &5 N2 39,900 48,600 A8,700
307 2Izt0ol A 39,900 48,600 A8,700
03 RIZIEHMEH2IHEX 23,600 23,600 0
Omtl==tNESHESSEXNS 28 XA
23,600,000& 23,600
04 DI2FHALALSE E X 16,300 15,000 1,300
OHM63l tl=elo & Nzl 5,000,000& 5,000
OHM13 &Ho==H M=zl 11,300, 000& 11,300
2022@ M=dE AHEE ZXhel Av 129,600 0 129,600
= 64,800
= 64,800
307 2Iztol ™ 129,600 0 129,600
= 64,800
= 64,800
05 RIZHRI & 3 129,600 0 129,600
OBE BE 28 A2 L2 A
129,600, 000& 129,600
= 64,800
= 64,800
S3INAE A (2L 2Z /230 =) 1,545,545 290,764 1,254,781




2A: 222 s
. 2I|EAE IS (222 /250 =)
S 2IIEAIE XIH2E L &5 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 536,600
= 1,008,945
SSIIBAIE XISH2Y L &5 1,545,545 290,764 1,254,781
T 536,600
= 1,008,945
A2 29 X 153,381 117,756 35,625
101 @121l 19,996 27,058 NT,062
04 JI2ZtH22XNHEE 19,996 12,950 7,046
OENZ HA ABA(F25A2L 22X 19,996
-3 9, 160& x5 A| 2+ %247 11,313
- FE5Y 9,160& *5A| 2tx45L! 2,061
- AN EEE 13,512,000& *12% 1,622
- JI2tH 22X g &3 5,000,000& x1H 5,000
201 et A | 99,135 64,748 34,387
01 AFR2 2t 2l Yl 52,740 39,258 13,482
O&AMN 22I8E #¢ 5,000
- X ¥ I 200& *5,00004 1,000
- 3¥E IIHE HH 1,000& *5000H 500
- 2AYUXZSZ(RFID Tag) 7003 x5, 00004 3,500
OEAMZ 02422 S2 Ayl
8,000& x2H x120 1,920
O MBHE OHHES A &S| 50,000& x12& 600
O M& &3l 200,000& *13] 200
Ood.2=7 & "o 2eltl 380,000& 43| 1,520
OMYIISE NMEM 822 5 FAEE 7€
100,000& *123] 1,200
O&EXN ,HEES, &=MEMN,S+8 & #&
100,000& =123 1,200
OSAID & Ty E 2+ 250,000& x4 4 1,000
O=EAEX 2 25,000 *208F A 500
OXgal gsa A8E 22 100,000& = 12& 1,200
OAagotdaz LRU S|
500,000& *12& 6,000
ONMAAY S8 SXE2H]
1,100,000& x12& 13,200
OXItEg MI|I&Hl otd™2te| UEy|
350,000& = 12& 4,200
Osd) A 4| 300,000& x12& 3,600
ORAHHIAAE S| 450,000 128 5,400
OZHOIX |A22 49| 500,000& x12& 6,000
02 3244l 43,195 22,290 20,905
OEANZ2 AFZ=E S A 3,000& *2,621m* 7,863
OHE A =HI| 100,000& *123] 1,200




A 2322
HI: RIIIBAIE IE(2tL2Z /250 =)
CHel: EEIIBAIE RIS2E & &3 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OMd== & & 4AF 400,000 »23| 800
O&II3 2,400,000& =12 28,800
OQHY Sdes 60,000& x12& 720
S2 I8 I & At 120,000& » 13| 120
OCeHYE Mo AIE = 50,000& x13] 50
Osd)l HidsSs datRs 3,500&~12& 42
O M2 JIH &Hl RX E=Hl
300,000& 122 3,600
03 &AL S HI 3,200 3,200 0
OENMZ Eu=sxz2d 29 3,200
&b BhD| 80,0003 52 43| 1,600
- GtEtJ| 80,000& 52 £ +43| 1,600
202 O4dl 950 950 0
01 = LH 4 Hi 950 950 0
OZN22d f38 S 1= &4 FUHY
20,0003 x2H 3«53 600
OAigordae| It ns&EFA UL (22)
70,0003 »1H +5 350
401 Al Bl 28I 15,000 15,000 0
01 Al&HI 15,000 15,000 0
OZYUCHE 22 g= BA
15,000, 000& 14! 15,000
405 XHobF S HI 18,300 10,000 8,300
01 AL 2 ZFH S| 8,300 0 8,300
OZEEM2Z CIHA FHH] 8,300
- ZdFH 7L 1,200, 000& »50H 6,000
- 2LH 72 300, 0002 »5CH 1,500
- ZglHIl #g 400, 0003 *2CH 800
02 =M=l 10,000 10,000 0
OZEEMZ TA7Y 10,000, 000& 13| 10,000
M0 U USRS ATA (MY 29 X 22,000 22,000 0
)
< 6,600
[ia 15,400
307 21201 A 22,000 22,000 0
< 6,600
s 15,400
03 BIZIFH B E2IHEX 22,000 22,000 0
OAElls2 29 X2 (&a0s2)
22,000,000& 22,000
< 6,600
[ia 15,400
oA 22 12,000 14,000 A 2,000




AN 22Z ML
HI: RIIIBAIE IE(2tL2Z /250 =)
&S 2AIBAIE NE2E 2 &3 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
405 XHoHF S HI 12,000 14,000 A 2,000
02 =M=l 12,000 14,000 A 2,000
OZMFHI (&2, 4 & 8w, A0 S, LA
o2, & 0F) 1,500,000 =84 A 12,000
zEllzsz 23 328,164 137,008 191,156
101 @124l 20,446 24,050 A 3,604
04 JIZHHNZ2Z2XNSE+ 20,446 19,543 903
Otz &EZ &x ¢ oM =g
125,000 & »2H x4 «33] 3,000
Ollz=2 =322 & MUE=MH AEZ
144, 4813 x2H 2 43 2,312
OFArZel QIAHI(F25A2F 2 2X) 15,134
- 3= 9, 1603 *5Al 2+ *247 11,313
- FRE 9, 1603 x5A| 2t *48L 2,199
- MIEEE 13,512,000 1% % 12% 1,622
201 Let2d] 208,418 108,658 99,760
01 A2 22| 46,120 36,510 9,610
O&=J & dlol ¥ 2eldl 100,000& 122 1,200
Ozgllsx 298 423 70,000& x12& 840
Ozgllsz FA8F #¢ 200,000& *43] 800
OZEgH & SAI A2F 7Yl
250,000& »23| 500
O=SAMER FHl 25,0002 » 10 A 250
Oll=2t g2 =S <8 S20HAH]
8,000& »1H x80 640
Oz x8s8 7¢ 15,0002 80K 1,200
Obls2d ©A FLH 15,000& =30 450
Ollsg 28 4tz 1,000, 000& 22| 2,000
Ozxzaazd 85 ¢ 110,000& =12 1,320
Os283 34 89| 500,000& *23] 1,000
Oagotdate] PR SS9
500,000& 1204 & 6,000
OXtEEIILHl et Ze|tHed 2|
320,000 1200 & 3,840
OfolZdd &8 94| 420,000& x124 & 5,040
O&ZJl |A 22l 9Hl  440,000& 129 & 5,280
OZHOIX SX el Sl 5,000,000& 5,000
OCCTV s Xl 22l 385,000& 1201 & 4,620
AUSIIE =& e 990,000 =14 2 990
O=g eHfE el2x M
1,000& x1,000% 1,000
Os&I| EIIEA =5 125,000& »2CH 250
Ollsz 3484 2,500,000& =13l 2,500




SN 22AZHSD
HHM: 2I|HAE S (2L 2Y/250S)
S 23I|BAlE (&2 2 =
_ _ _ SHE|
SA - BB B (BA) - MM - BHES e
Oflz& X3&e Hazry 100,000 %43 400
Ol ALASRA 200,0002 *53] 1,000
02 2229 72,298 61,148
OusteER 100,000% 122 1,200
Oxagordel H3H (L3 & Es2el)
50,000 50
OAHE 4, ™I, ZHALE S 22/
100,000% 122 1,200
oFIIe2 4,000,000 * 128 48,000
Oz s4e2 4,0002 1204 & 48
OAFEE L MALZEHR 12,000,000 *13] 12,000
OTAIA T A 3,000,000% *13] 3,000
OFANZHE 4 =7 QEQRI3
40021 *1,0000H *53] 2,000
Ost=2e22 3| 300,000& 300
OAHE SR E24H| 2,000,00024 %100 A& 2,000
OJIHEH |X 24| 500,000% 53] 2,500
03 A2 90,000 11,000
OJl& 2 SHAMA AN 80,000
- SEIEF(SH AAH 23))
25,000,000 *23] 50,000
- NRA, D28 HHE 23
10,000,000 23] 20,000
- XN =SHA 13 10,000,000 *13] 10,000
ONSI20Y 2% (NS4) 250,0008 %103 2,500
O23 It Yes £(103]) 250,000 *103] 2,500
OX=01=U3 HAl 5,000,000 5,000
202 04l 2,380 2,380
01 2o bl 2,380 2,380
OYgstZelXt 18 4 2o (22)
70,0002 * 12 x5! 350
Os2J2elX g &4 2 odl(22)
70,0002 «1% 70
Oble2 A 22 8 2oL (22)
70,0002 * 1% »10L 700
Ol HAAMY A2 =8 2 0H (242)
70,0002 « 12 x83] 560
Olfle2 29 f3& & UHHHI(22)
70,0002 *12 10 700
301 Yot A2 1,920 1,920
09 BALAIH| X 22 1,920 1,920
OSgE HUA o3 AT S|
8,000 x80% x33] 1,920
401 Al&HI 2L 200 95,000 0




SN 23RS
HI: RIIIBAIE IE(2tL2Z /250 =)
Sl RIYAL NS2Y U HE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 95,000 0 95,000
Od - eI Wbl 90,000,000 =14l 90,000
O&ZE & M==AY 5,000,000 =14 5,000
F3t=3 2 HE (ME) 1,000,000 0 1,000,000
< 500,000
s 500,000
401 Al HI L =2 TH Yl 1,000,000 0 1,000,000
< 500,000
s 500,000
01 A& HI 1,000,000 0 1,000,000
OFstil=sla A8 J18 & dHEA
1,000,000, 000& 1,000,000
= 500,000
s 500,000
DIEEN X4 30,000 0 30,000
= 30,000
401 AIEHI L 2CHEI 30,000 0 30,000
< 30,000
01 A& Bl 30,000 0 30,000
O&=Y Sitel EANtS s cl228
30,000,000& 30,000
< 30,000
23N MAHE Hs BE(2L2Z/2s M) 394,890 58,560 336,330
= 29,817
< 8,505
[ia 356,568
SN E 28 2tel 46,830 0 46,830
= 29,817
< 8,505
s 8,508
2UNNE2N L SS2HH 2480 U 37,000 0 37,000
= 25,900
< 5,550
[ia 5,550
401 AIEHI L 201 37,000 0 37,000
= 25,900
< 5,550
[ia 5,550
01 A& HI 37,000 0 37,000
Oghg Ji2el FHAUR NU=sX & Al2el
15,000,000 * 10 2 15,000
= 10,500
= 2,250
= 2,250
Oglg &uel SEUR BUR,HAALSR =
A Al 22| 22,000,000 104 & 22,000
= 15,400




2N

=232
HM: 25 MAHAN 85 E=(23Y2Z/235M)
e 2IIXNE 23 2el (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 3,300
= 3,300
23 HLHE MH| S 9,830 0 9,830
= 3,917
= 2,955
= 2,958
401 AIEHIZL 201 Y| 9,830 0 9,830
= 3,917
= 2,955
= 2,958
01 Al&H| 9,830 0 9,830
Ost®E =g N&8Z2 otEr Ayl
3,950,000 10 & 3,950
= 1,185
& 1,382
= 1,383
OEILE M2 OHLHEN AH| 1,730,000 104 & 1,730
= 519
= 605
= 606
OZMLS=2W AHUHE H|
1,730,000 104 & 1,730
= 519
o= 605
= 606
Ogt™d Do A oL EF HH|
2,420,000 *10H & 2,420
= 1,694
o= 363
= 363
TXNHSSIM B& 348,060 58,560 289,500
SXE SSM 23| 120,000 25,000 95,000
401 AlEHIZL 2 0HY| 120,000 25,000 95,000
01 Al& H| 120,000 25,000 95,000
OBZA 2F2 HEHISA 120,000, 000& x 14! 120,000
Sste™ 22 (XA) 228,060 29,160 198,900
101 21 214| 29,160 29,160 0
04 JI2tHIZ22XNEES 29,160 29,160 0
OEXE 25 THAIAI 22 (02 D22 )
69,760 x 19U 220 A *x1H 29,160
201 et d| 3,800 0 3,800
01 AP 2t 2] d| 3,800 0 3,800
OEXAE 23 gsZE I 2 A
100,000& *203] 2,000
O23tM M=&d A2FH 100,0002 1000 &~ 1,000




2N

=

i3]
é
0
B

B 250 AN s BE(SILBB/28T)
Sl EXNZEeSY 2E EERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
O23M 2elge =& S20 44
8,000& »2H +50 800
202 O4dl 2,300 0 2,300
01 = LH 4 Hi 2,300 0 2,300
O2%M 2elge =& bl
20,0003 »2H 40 1,600
O=stM 28 ns 4 70,000& x1H »102! 700
207 RO 30,000 0 30,000
01 H3 39| 30,000 0 30,000
OERstz4A X222 20,000,000& 20,000
OMLN3 AECEE J=2HEEY
10,000, 000& 14 10,000
307 21201 A 4,800 0 4,800
02 It S AHEE L 4,800 0 4,800
OXMMAE SXNFESM =210 2F22XA
400,000& 1290 & 4,800
401 AIEHI L 2 CHYI 158,000 0 158,000
01 A& HI 158,000 0 158,000
OOtst AL EHIDIZER =4 SEEHHE 29
=]l 100,000, 000& * 14 100,000
O=Jt & EXNE23M ==+l
10,000, 000& 10,000
OEZs R4 S5 10,000, 000& 10,000
OEXNZEISN s84HBFEINE 89
20,000,000& =14l 20,000
OZXNHE2M 2MeSSE=sE 220 MEH
18,000,000& *1JH £ 18,000
MY AE (2t atz/2g) 719,295 388,235 331,060
< 17,300
s 701,995
220t & B4k 499,995 218,235 281,760
ez 22 66,275 47,025 19,250
201 et 66,275 47,025 19,250
01 At 2teltl 46,475 42,075 4,400
O2ZoHLH M H& 10,000& »1,800% 18,000
O=tZetXSE M= 500& 30, 0000H 15,000
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401 AIEHI L 20 900,000 0 900,000
s 270,000
s 630,000
01 A& Bl 900,000 0 900,000
OEOTZE AEML A 900,000, 000& 900,000
s 270,000
e 630,000
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SN RHBBHSD

H: MY SH(2HL2Z/HK)
Eel: MsAEsS 2el & 29 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
IasZ& AEHE SA 500,000 0 500,000
s 150,000
s 350,000
401 Al Bl 28I 500,000 0 500,000
s 150,000
s 350,000
01 A& Bl 500,000 0 500,000
OmWAZSZE AMAME A 500,000, 000& 500,000
s 150,000
= 350,000
FE UEXNS HEAS 2,898,000 0 2,898,000
< 2,898,000
401 Al B2 2B 2,898,000 0 2,898,000
= 2,898,000
01 A& HI 2,896,000 0 2,896,000
O EMHMEEL2 A3 AL (2021)
1,503,000, 000& 1,503,000
< 1,503,000
O EMHMEEL2 A ALY (2022)
1,393,000, 000& 1,393,000
< 1,393,000
03 A& =2 THHI 2,000 0 2,000
O EMHMEELE A3 ALY (2022)
2,000,000& 2,000
< 2,000
MEtdXa ¥ d+=54 777,426 569,215 208,211
st =4 X 241,190 131,499 109,691
201 LBH2dH| 1,620 1,620 0
01 At 22l 1,620 1,620 0
OMSTELI L8 28 S2 )4
8,000& »2H+70 1,120
OMREE PU(EU 2 38) 250,000&*2Z 500
202 oddl 1,500 1,000 500
01 = LH o4 1l 1,500 1,000 500
OMSsSHH XNd L2 =8 2L ¢yl
20,000 »3H »252! 1,500
307 21201 A 238,070 113,129 124,941
02 RIZFEA MM E X 119,080 43,240 75,840
Oz HM=3 JHueHE sd4X3
2,000,000 *x305 = 60,000
OHENsUsd S &It HHYFIIH X
300,000 20 Xl 6,000
OX=HM=Uz TUE &It NOHZ2A ZI|I A
AN (d&sd, 2=, 24) 1,000,000%+35 = 3,000
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AN 22Z ML
H: MY SH(2HL2Z/HK)
el MSSHAY o H454 EERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O3 E=sY 300,000& x 18 128 3,600
Od= doff 282 500,000& x5H 2,500
OAMIEE BE3 261,000,000 *12% 31,320
ou=s-gl 150,000& *6H x25 *4 3] 7,200
OFEblI=Hl 1,000,000& 23 2,000
OUistd =& &altl 1,000, 000& 12| 1,000
Og=a 224 956
- Esa MESFMYIISE, FEX S)P
2l 500,000& 500
- d3) XM= 38,0003 x1CH+122 456
Od=sd s &It & Z2 &9 HAH|
70,0003 +801 CH=l 560
307 21201 A 75,000 0 75,000
04 QIZFHALAIH B = 75,000 0 75,000
020223 =212 =8 el KX
25,000,000& 25,000
0202243 &8 2JHE =2 dNEHE R
Xl 50,000,000& 50,000
2E MU XA 569,970 684,590 A 114,620
T R Ola MSEA Mzl 2 Ot 486,570 577,590 291,020
202 oddl 7,170 6,190 980
01 = LH o4 1l 7,170 6,190 980
O3 HsdM RA2HE a8 S 2+
s 2o - (22) 70,000& 11 770
Odetds M=ssl SFotd=st oIS
1,590, 000& 1,590
Odctg: MENSUHSE Sitdst oS
1,590, 000& 1,590
O&FOMeIMsUa &t & 280,000& 280
OAZE SO HMSHA &I} 0ls 42 43
IO (22) 70,0003 «3H x2L «73] 2,940
307 21201 A 479,400 571,400 292,000
04 QIZFHALAIR B = 479,400 571,400 292,000
OdetgE MsEUs &It XA 135,000,000 135,000
O&H? 0l 25 MU MHal & FIHXH
5,000,000& x43| 20,000
Odctg dadsUsd &It N&
90,000,000& 90,000
Odctg: HoHe M=sUMal KA
10,000, 000& 10,000
Od= Ze 22 &3 Uzl Hza X
5,000,000& 5,000
Odctg: HEWMEMSUHEAE It XN
10,000, 000& 10,000
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AN 22Z ML
H: MY SH(2HL2Z/HK)
©el: 2AZ HSHE X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Odctg: HElolMEMSUHEA It X
3,000,000 3,000
Ot Ol M=tz E=s€ It N
18,400,000& 18,400
OAZ ASBA W2 522 =94 N
500,000& x20& = 10,000
OEHEXL 2= -dg S5 20z X2
20,000,000& 20,000
O8aHI SEUHe =22 Hal X
10,000, 000& 10,000
OB &= -8 HUANE X
10,000, 000& 10,000
Od= ZUMLM=0a &It XI¥ 3,000,000 3,000
O&d=2 2=U3 M X 15,000, 000& 15,000
OdctgZMaEMsta ot X
10,000, 000& 10,000
OZFEZOIEATH - g 2802
2 OH=E X 20,000,000& 20,000
OEE3 W I 2==0Hs Mzl XI&
20,000,000& 20,000
Odctd: AIZx=& HoESUE Ha X
15,000, 000& 15,000
OXUG XA EHAZUE & EIMA HE
1A d2Ua HE X2 30,000,000& 30,000
OUHItH &= MEX=s &3203 Hz X
10,000, 000& 10,000
OSEHXEY Al =8 BHEQIEHS XA
15,000, 000& 15,000
= SRl MSHA W 83,400 107,000 A 23,600
307 21201 A 83,400 107,000 A 23,600
04 QIZFHALAIR B & 83,400 107,000 223,600
OgfgZEaldIl 28 AHOoE=2 ta Mzl X
el 5,000,000& 5,000
O=Zg3l &bl 28 =Z03 Nzl X2
20,000,000& 20,000
Odesl &) Sgie =203 Hzal XA
10,000, 000& 10,000
O8aFI daH=s 57203 HAXNE
5,000,000& 5,000
OEEZ HISE 3 &0 utstal Mzl XA
7,000,000& 7,000
O&EZ g3&I| tHELEHHS M= XA
5,000,000& 5,000
O3l &I =28 S&isl Hxl X
5,000,000& 5,000
Og3l&I 28 NdAUs Nzl X3
5,000,000& 5,000
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EX: S3t22 =10
H: MY SH(2FLEZ/HR)
@2 243 Mz XN (2 &HH)
2 S 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O2= AsU3 ME ¥ &2IF I
21,400,000 21,400
Stis & MEds s4 596,606 542,324 54,282
J| 227,572
= 6,274
= 362,760
stHdE 84 A& 57,000 55,000 2,000
308 XX SHHSOIH 57,000 55,000 2,000
08 W=sJl&otistE = 57,000 55,000 2,000
O EJI2s(dsd) 4w XA 28,000
nE=a=iami 10,000,000& 10,000
- &&tW 1,000,000 x6& 6,000
-dsg IXNNA 500,000 *2 W+ 12& 12,000
O+ 22X g4sD N 25,000
-g3zo) 2,000,000 6 12,000
- &==25 .80, x X, 80X
2,000,000 504 1) 10,000
SLIX LN 1HR(SFRXE)
500,000 6 & 3,000
OstnHS ATx T2 29X KA (2 AkH])
40,000 x4 & = *50 Al 2F*50% 4,000
MEH e 220 29 63,200 60,680 2,520
202 04d| 600 0 600
01 2L I 600 0 600
OHdsls T2 29 22 odl
20,000& *3H *103] 600
307 2izto| A 62,600 60,200 2,400
02 QIZIA AAIE E X 62,600 60,200 2,400
oz 25 2AE K& 600,000& x12& 7,200
OMEE a0l A2|na 29 X
200,000 »40H 8,000
OMEX 28 89 X4
300,000 9 S B 128 32,400
ONOE MesHsZ202 29 (A4 20|
A, HH24l) 3,750,000 4= 15,000
MEYWEXNEZAL 4 A 41,040 33,840 7,200
307 QI2t0| & 41,040 33,840 7,200
02 AI2tAAMAIE E =X 41,040 33,840 7,200
OMESAEX 2P HSHA I =&
2 H X 20,000 128 x5 x12& 14,400
OMESAEX T2 HSHA &I =&
2 (=22) 70,0002 12 63| 5,040
OMEMSAEX Sel=4H K&
100,000& x 128 x12& 14,400
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AN 22Z ML
H: MY SH(2HL2Z/HK)
Sl DN L MBS S4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OdasICt HMZ(EE) =<
100,000& »3¥ «12& 3,600
OMEHMSNER © =e 1=y
200,000& »18H 3,600
HEHSWNY 2 8,100 8,100 0
307 gl2tol & 8,100 8,100 0
02 IZtE S AHE L 8,100 8,100 0
OMEHsIY 2L+ S 91 52)
900,000& x9& = 8,100
Ut MEHYSXESX WX (BSIE) 178,783 175,392 3,391
J| 89,391
s 89,392
307 21201 A 178,783 175,392 3,391
J| 89,391
[ia 89,392
02 It S AIHE LS 178,783 175,392 3,391
Oget MEXNSXEZ A BHX A 178,783
- Q1A 2,470,100& x6H 123 177,848
J| 88,924
s 88,924
- ANEgs B2 12,9802 x6H 123 935
J| 467
e 468
Hzd MEMSXEX HXIX2(2SXH) 178,783 175,392 3,391
Jl| 89,391
s 89,392
307 glz2tol & 178,783 175,392 3,391
Jl| 89,391
s 89,392
02 It M AHE L 178,783 175,392 3,391
Oozd MEMISXZ B XA 178,783
- Q2] 2,470,100 x6H 123 177,848
J| 88,924
s 88,924
-NEEgs B2 12,980 x6H «12& 935
J| 467
[ia 468
A= 2AXH0IEA X 63,750 33,920 29,830
J| 44,625
< 5,738
e 13,387
301 LEEXZ 63,750 33,920 29,830
J| 44,625
< 5,738
e 13,387
01 MEIBEE 2053 63,750 33,920 29,830
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AN 22Z ML
H: MY SH(2HL2Z/HK)
Sl DN L MBS S4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OA2mZ=2% 0lEA XIAAEY
85,0003 75 «10& 63,750
J| 44,625
< 5,738
i 13,387
ool AZ=x 2H0EH N 5,950 0 5,950
J| 4,165
< 536
s 1,249
301 LEHZ 5,950 0 5,950
J| 4,165
< 536
s 1,249
01 MI2EZE 06z 5,950 0 5,950
OFHel AZ=2E 0lE2A XN ALY
85,000& x7H «10& 5,950
J| 4,165
< 536
i 1,249
HE2AZH (222 M=) (IIEH/IIE 45,213 26,160 19,053
ol 2l 23,393 0 23,393
QIHA2IHI(23IIBAIE 29) 12,917 0 12,917
101 @124l 12,917 0 12,917
01 2=+ 12,917 0 12,917
OENZ 5222 9 8,270
7= 87, 1493 »1H x50 4,358
-8=2 78,2393 x 1«50 3,912
o220z FY2L 29 4,647
- A 92,9393 x 1«50 4,647
lHIH(MESAE 2) 10,476 0 10,476
101 @124l 10,476 0 10,476
01 2= 10,476 0 10,476
OZ33HEANE L2812 =& 10,476
-6 96,4773 x40 3,860
-2 87,1493 x40 3,486
-8 78,239 x40 3,130
JlEZl 21,820 26,160 A 4,340
JlE2&l 21,820 26,160 AN 4,340
201 Let24E] 18,220 12,360 5,860
01 At 22l 18,220 12,360 5,860
O2N2Y LE2H| 50,0003 x19H x128 11,400
Odz, X #=s2 20,0003 x18&«12& 4,320
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2,500,000

KJ
KE
ok
oD

128

2 *

=

300,000




